
71. Решить уравнение 
2 2 21 cos28sin 4sin 2 5 8cos2 8 4(1 cos 2 ) 5 8cos 2

2
xx x x x x−+ = − ⇔ ⋅ + − = − ⇔ 

24cos 2 4cos2 3 0x x⇔ − − = . 
Пусть cos 2x t= . 
Решим уравнение 

2

1
24 4 3 0

3
2

t
t t

t

 = −
− − = ⇔ 

 =

. 

Таким образом 
21 2 2cos2 1 32 cos2

3 22cos2 решений нет 2 2 :
2 3

x kx
x

x x k k

π = + π= − 
⇔ = − ⇔ ⇔

π = − = − + π ∈ 
!

 

3

:
3

x k

x k k

π = + π
⇔ 

π = − + π ∈
!

. 

Ответ: ; :
3 3

k k kπ π − + π + π ∈ 
 

! . 

 
72. Решить уравнение 

2 2 22sin 4sin 2 7cos2 6 1 cos2 4(1 cos 2 ) 7cos2 6x x x x x x= + − ⇔ − = + + − ⇔ 
24cos 2 8cos2 3 0x x⇔ − + = . 

Пусть cos 2x t= . 
Решим уравнение 

2

1
24 8 3 0
3
2

t
t t

t

 =
− + = ⇔ 

 =

. 

Таким образом 
1 2 2cos2 1 3 62 cos2
3 2cos2 2 2 : :
2 3 6

x k x kx
x

x x k k x k k

π π  = + π = + π=  
⇔ = ⇔ ⇔ 

π π  = = − + π ∈ = − + π ∈   
! !

. 

Ответ: ; :
6 6

k k kπ π − + π + π ∈ 
 

! . 

 
73. Решить уравнение 

sintg (1 2sin ) 2cos 3 (1 2sin ) 2cos 3 0
cos

xx x x x x
x

− − = ⇔ − − − = ⇔ 

2 2sin 2sin 2cos 3 cos 0 sin 2 3 cos 0
cos 0 cos 0

x x x x x x
x x

 − − − = − − = ⇔ ⇔ ⇔ 
≠ ≠  

 

1 3 sin 1sin 3 cos 2 sin cos 1 32 2
cos 0 cos 0 cos 0

xx x x x
x x x

 π   − =− = − =    ⇔ ⇔ ⇔ ⇔   
≠  ≠ ≠ 

 



52 : 2 :
53 2 6 2 :
6: :

2 2

x k k x k k
x k k

x n n x n n

π π π − = + π ∈ = + π ∈  π ⇔ ⇔ ⇔ = + π ∈ π π ≠ + π ∈ ≠ + π ∈  

! !
!

! !
. 

Ответ: 5 2 :
6

k kπ + π ∈ 
 

! . 

 
74. Решить уравнение 

23 sin 2 2sin 1 2cos 3 sin 2 cos2 2cosx x x x x x+ − = ⇔ − = ⇔  
12sin 2 arctg 2cos sin 2 sin

6 23
x x x x

  π π     ⇔ + − = ⇔ − = − ⇔            
 

2 22 2
6 2 9 3

22 2 : 2 :
6 2 3

kx x k x

x x k k x k k

π π π π− = − + π = + 
⇔ ⇔ 

π π π  − = π − − + π ∈ = + π ∈   
! !

. 

Ответ: 2 2 2; 2 :
9 3 3

k k kπ π π + + π ∈ 
 

! . 

 
75. Решить уравнение 

23 sin 2 2cos 1 2sin 3sin 2 cos2 2sinx x x x x x+ − = ⇔ + = ⇔  
3sin 2 sin sin 2 sin 0 2sin cos 0

6 6 2 12 2 12
x xx x x xπ π π π       ⇔ + = ⇔ + − = ⇔ + + = ⇔              

 

3 3cos 0
2 123 2 12 2sin cos 0

2 12 2 12 ;sin 0
2 122 12

x x kx x
xx k k

 π  π π+ = + = + π  π π      ⇔ + + = ⇔ ⇔ ⇔     ππ       + = π ∈+ =    
!

 

5 23 5
18 32 12

; 2 ;
2 12 6

kx xk

x k k x k k

π ππ  = += + π 
⇔ ⇔ 

π π = − + π ∈ = − + π ∈ 
! !

. 

Ответ: 5 22 , ;
6 18 3

kk kπ π π − + π + ∈ 
 

! . 

 
76. Решить уравнение 

cosctg (2cos 3) 2sin (2cos 3) 2sin 0
sin

xx x x x x
x

− + = ⇔ − + − = ⇔  

2 2 2cos (2cos 3) 2sin 0 2cos 3 cos 2sin 0
sin 0 sin 0

x x x x x x
x x

 − + − = − − − = ⇔ ⇔ ⇔ 
≠ ≠  

 

2cos решений нет
3

sin 0

x

x

 = − −⇔ ⇒
 ≠

 решений нет. 

Ответ: решений нет. 
 
77. Решить уравнение 

10 cos 4cos cos2 0 4cos cos2 10 cosx x x x x x− − = ⇔ − = ⇔  

2 22

cos 010 cos 0
4cos (2cos 1) 10cos4cos cos2 10cos

xx
x x xx x x

 ≥≥⇔ ⇔ ⇔ 
− − =− = 

 



2

cos 1
1cos 0 1cos cos6 212cos 4cos 1 0

1cos
2

x

x x x
x x

x

≤
 ≥   = −⇔ ⇔ ⇔ = ⇔  − − =   = 

 

2
3

2 :
3

x k

x k k

π = + π
⇔ 

π = − + π ∈
!

. 

Ответ: 2 ; 2 :
3 3

k k kπ π − + π + π ∈ 
 

! . 

 
78. Решить уравнение 

5 sin 2 1 8sin cos 0 1 4sin 2 5 sin 2x x x x x− + = ⇔ + = ⇔  

2

sin 2 1
sin 2 0 1 sin 2 1sin 2
5sin 2 4sin 2 1 0 5

sin 2 1

x
x

xx
x x

x

≤
≥  ⇔ ⇔ ⇔ = ⇔= −  − − =  
 =

 

2 2 : :
2 4

x k k x k kπ π⇔ = + π ∈ ⇔ = + π ∈! ! . 

Ответ: :
4

k kπ + π ∈ 
 

! . 

 
79. Решить уравнение 

14sin 3 sin 2cos2 1 0 4 (cos2 cos4 ) 2cos 2 1 0
2

x x x x x x+ + = ⇔ ⋅ − + + = ⇔ 
22cos2 2cos4 2cos2 1 0 4cos 2 2(2cos 2 1) 1 0x x x x x⇔ − + + = ⇔ − − + = ⇔ 

2

1cos2 124cos 2 4cos2 3 0 cos2
3 2cos2
2

x
x x x

x

 = −
⇔ − − = ⇔ ⇔ = − ⇔

 =

 

22 2
3 3
22 2 : :
3 3

x k x k

x k k x k k

π π = + π = + π 
⇔ ⇔ 

π π = − + π ∈ = − + π ∈  
! !

. 

Ответ: ; :
3 3

k k kπ π − + π + π ∈ 
 

! . 

 
80. Решить уравнение 

2 218cos6 cos2 2sin 4 3 0 8 (cos4 cos8 ) 2sin 4 3 0
2

x x x x x x+ − = ⇔ ⋅ + + − = ⇔ 

4cos 4 4cos8 1 cos8 3 0 4cos 4 3cos8 2 0x x x x x⇔ + + − − = ⇔ + − = ⇔ 
2 24cos4 3(2cos 4 1) 2 0 6cos 4 4cos4 5 0x x x x⇔ + − − = ⇔ + − = . 

Пусть cos 4x t= . 
Решим уравнение 

2

2 34
66 4 5 0

2 34
6

t
t t

t

 − −=
+ − = ⇔
 − +=


. 

Таким образом 



2 34cos4 решений нет
2 346 cos4

62 34cos4
6

x
x

x

 − −= − − + ⇔ = ⇔
 − +=


 

2 34 1 2 344 arccos 2 arccos6 4 6 2
1 2 342 34 arccos :4 arccos 2 :
4 6 26

kx k x

kx kx k k

  − +  − + π= + π   = +     ⇔ ⇔   − + π− + = − + ∈= − + π ∈     
!!

. 

Ответ: 1 2 34 1 2 34arccos ; arccos :
4 6 2 4 6 2

k k k
 − + π − + π − + + ∈ 
  

! . 


